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B.Tech I Year II Semester Examinations, August/Septembcr - zafi
MATHENTATICS-II

(Commort to EEE, ECB, CSE, EIE, IT)
Time:3 hours Max. Marks: 75

(25 N{arks)

t2l

Note: This qLrestion paper contains tu,o parts A arrd B.
Part A is cornpulsorl,rvhich carries 25 marl<s. Ansrver all questions in part A.
Part B consists of 5 Units. Ans'uver any one fLrll question fro6 each unit.
Each question carries I0 rlarl<s and may have a, b. c as sub questions.

PART- A

,\
I a) Firrd l- l . -f-- I

t,r_ _].s, 5/
1/

b) I-et tlr r ttl - i tr'1. Prorc rhar I il rtrtr, ' .rl ' l
tt ,tl 

)
c) Defirre Gamma function.

l
2

d) Evaluare lSin'"Cost rdx Lrsing Beta and Gamma function.,J
0

ti4

e) : Evatuate JJJG + 1, + r)drdy,t,

t3l

l2l

t3l

t2l

f) Find the area of the circle using double inres.ral.
g) Give short note on gradient of"a scalar:point"function.
h) Find tlre sealar potential ltrnction of lrr irrotlrionar recror I -.\i
i) Evaluate !rd* + ydy + ztlzu,here C is a circle ,, +-y, : i in ,!,-

j) Appll' Gauss divergerrce rheorenr to evaluate [[ x dl,rt= * ),tlzdr + : cl_r$; over rlre

surface of the sphere ol'radiLrs'a' units, 
L3]

t3I
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(50 Marks)
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PART-B

2.a) F-ind Laplace transfonrr of +
Ib) Find the inverse Laplace trarrsfornr of ,------.

(r'+ t)'
OR

3.a) Solve1," +4v=0, y(0)= t,-1,,'(0)=6 usipg Laplace transform.

b) Solve the integr:al equation f(t)- at+).f(u)sin(r_ u)tlu. / >0.
0
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1.a) Shou'

b) Eva luate

tha t j.r".-"rn=+{+]

i..'[,no1 J',r..
,, 1 r)

Jl xt'drdt
R

(n>-l).

OR

Iiri Ir- _ l

l5+il
L-

the cLrrve

tt0l

5.a) Prove that p(ru. n) =

t:
bl Evatuare i-"!a,.

'o r/l-x

7 .a) Using rriple inregral. find
I r/srnF,

bt Lvaluate I 1,,1,.,10.JJ

2.,,-,f1r*!1
)

rvlrere R is the region boundecl by r_axis and x:2a arrcl

OR
the voiume of the sphere rvhose radius is .a. 

units.

6. Evaluate

x2 = 4a), .

[5 t-;1

trt)..

the d irection

^/irq1

B.a)

b)

Find CurlF at the point(1,2,3),given that p = gt.utl(rr,,,nJ,r--+rr_r__,

i:11^t ltlltlnrry.rivative of fi = ,o + ;,' + za auhe poinr A(1.-2.1)
ere B ls

9.a)

b)

vl\

Il the vector fiercr F -- 1r11 z: )i * (r-rzr I zct)s)/zt'f t t2t.'.t.2 r.vcoS trli is
conservative then firrd its scalar potential function.
prove that 611,12,,,r:) = (n + 3.)r,, Where r. = Jrl = .,F;, , r,

OR
Ii+-;1

[-)+_i]

l0'a) Use Di'ergence theorem to eraruare I r.,i,t, rvhere [r=3xi+]_1,1*3rp ancr
.\'

surfbce of sphere is xl+vl-r-z: = al.
b) calculate the rvork done br a force F:.3.ri,i - l,r.i in rnov,irg a particre in xr,_ prane ltorr(0, l) to (i.2)along the parabola ) - x-.

()R [5+5 ]

I ' verifl' stokes theorein lor F=(xr+)'r)i-2x, taken around a rectansle borintrcclb;, the lines x = 3, X: -a, ),:0 and 1, = 6.
Itu]
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